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A B.5 c.3 D.1
3.RtAABC H,/C = 90°,AB = 5.BC = 3,1 tanA = ( )
4 3 .4 3
A? B. ‘i‘ (,,'S— 1. 5
4. a HBif  tana = cotdd W o = { )
A.43° B.45° C.47" D. 49°
58845 < o < 9, W sine Y5 cose BIFRDLF L. ( )
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A0 < a<30 B.30° < o < 45°
C.A45 < a < 60° D.60° < o < 90°
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A.1.3079 B.1.309 5 C.1.306 3 DR
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A PMF B.%F1 C.kKF1 D. FHERE
15. P& S, IFFA ( )
A.sin60” > cos30° B.cost’ > cos30° C. tan60” > tan3(’ Dot > oo
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Ag = ccot B B.a = ¢ cos B C.a = ctan B D.a = ¢csin B
18. 7 &AABC B3 \a cos B - % : (-5— ~ sin (‘}_ =00 A KERLE ( )
A9 B. 60" C.45° D.30°
19. P& A fixi ( )
A.sin35° — sin3d°50° < 0 B. cot& > cot®4’
C.cot78°25" < cos78°23 D, tand3°l” < 1and3°3
20. R 45° < A < 90° B, F WA % KT & { )
Adtan A > cos A > sin A Boecos A > tan A > sin A
Cosin A > tan A > cos A Dotan A > sin A > cos A
2045 a + 8= 907, LA F %L w2k A ( )
A.sin @ = sin 3 B.tan a = cot{90° - 3)
C.sina = cos 3 D.tan(90° - 3) = tan 3
2.4 AABCHL.LC = 9002 B /A « )
AL F3% B. &% C. k) D. 440
=8
23. A WBiS.in(90° - A) = %.mu wsA = ammA -

24. 1 AABC W, /C = 90",-;)i 2 FRIEY. - 4R
RIS,

25.5in"46° + costd6° — tand6’ + cotd6”

26.v/ (1 - cot30°)2 + v/ (1 - sin60°)? =

27. ol 17+ cost2’ b o 4 costRY = e

28. AABC th, /( =90,/ /A./B./C ﬁ;rxmﬁﬁum boc. 4 a

Z, sinA + sin B + sin o

29. % cos21” .cos37° .sind1® ‘u)c-Aﬁ Q{Jfﬁﬁmf BRI HE 5]

Il

= 15.6 = 8.

N FERAABCH, /C=90,0 =6, =8 H2asmA = tanh =
o o . 2
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—RmER
32.iHE:
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c0s60° — tand5”

ot30° ~ Deotds® (6) v 1 = 2tan60° + tar 60’

(5)

B2 mE e - 12, RiNABC #1, ZACB = 90°,Cl | ¢
FD,AD = 2,BD = 4,5K /£ ACD 304 = fR%.

34. 2%l sin @ = '%.ﬂ S a ALK cos a.tan a,cot a.
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35. Y o = sind5°, b6 = sin60° i} ,3R a'f_f—z_abai—)ff ~(a” = ab + b)) = 6_3___;_;___’_

36.3K tani” - 1an2” + tan3" - -+ + tan87° - 1an88" « 1an89" HI{H .

37 £ LABCH, LC = 90°,sin A = %,3}3 cot B.

38 AABCH, /C = 90°tan A — %‘?,AAB(I (98 I % 45em. 3R BC B9
9.7 AABCH, /C =900 = /15,6 = 35,8 /A K San-.

40. 3R 8 : 005?37 + tanl5 - cotl5® + tand8 + cost53° - cotd2” + tands’
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4. LA LB.C R AABC =A WA, KiFsin 228~ 5

pay o 2sindS"  cosdS Lo
42,315 tand5” + 3cot6d’  sin30° - cos30° Ll
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43 E5%GHE AABC H,AB = AC IR AB = 2BC 2K /B4 T < e .

(g sin90° )2 ~ (b cotds”)?
44 L= .
Mm.’%a‘sirﬁ[f — dahecosbl)” + (bBeotds” )
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45. fE AABC P EM Y M) E T AR (Dsin C = 1{2)sin A ceos 131
FBE A — e+ L= 0BIB PR, R 0.0, ¢ RS e

46 £ RtOABC Y, 2 C = 907,00 sin B + cos B BI{Y { )
ACKTFI B./hF 1 C.%EF D). ASH
-l Sin007 = 24nl07 - cosl0® L

48. I ‘»//.I_- _-:sirl.:-.lﬂu + ?Hil’l!”g -
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49. LHIAABCH , A /B . ZCHAMMRSMEe b.oo Fia b RXET oy -0 %
I - e+ 4)r+de+8 =0, HY9c = 25« sin A
(1) SRR AABC A=A (2) R AABC -1,

S0.RIAABC MR EHMATIa b R 30 - ab — 467 = 02K sin B Bl cos 1 1940

51008 6 — 14 B B & ABC ' SRIF ¥
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(2)Sanm = 5 acsin B = S0 sin A = Lab sinC. ’ \’
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